

1 Vector Space: A vector space over a real field F is a set that is closed under finite vector addition and scalar multiplication.

$$2 \quad \alpha P + \beta Q + \gamma R = (a, b, c)$$

$$\alpha \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix} + \beta \begin{bmatrix} 1 \\ 2 \\ 3 \end{bmatrix} + \gamma \begin{bmatrix} 1 \\ 5 \\ 8 \end{bmatrix} = \begin{bmatrix} a \\ b \\ c \end{bmatrix}$$

$$\alpha + \beta + \gamma = a \quad \text{--- (1)}$$

$$\alpha + 2\beta + 5\gamma = b \quad \text{--- (2)}$$

$$\alpha + 3\beta + 8\gamma = c \quad \text{--- (3)}$$

From eqn (1)

$$\alpha = a - \beta - \gamma \quad \text{--- (4)}$$

put eqn (4) in eqn (2) and eqn (3)

In eqn (2)

$$a - \beta - \gamma + 2\beta + 5\gamma = b$$

$$a + \beta + 4\gamma = b$$

$$\beta + 4\gamma = b - a \quad \text{--- (5)}$$

In eqn (3)

$$a - \beta - \gamma + 3\beta + 8\gamma = c$$

$$a + 2\beta + 7\gamma = c$$

$$2\beta + 7\gamma = c - a \quad \text{--- (6)}$$

Combine eqn (5) & (6)

$$2 \times \beta + 4\gamma = b - a$$

$$1 \times 2\beta + 7\gamma = c - a$$

$$2\beta + 8\gamma = 2b - 2a$$

$$- \quad 2\beta + 7\gamma = c - a$$

$$\gamma = (2b - 2a) - (c - a)$$

$$x = 2b - 2a - c + a$$

$$x = 2b - a - c$$

$$x = -a + 2b - c$$

From eqn (3)

$$b + 4x = b - a$$

$$b + 4(-a + 2b - c) = b - a$$

$$b + (-4a + 8b - 4c) = b - a$$

$$b = (b - a) - (-4a + 8b - 4c)$$

$$= b - a + 4a - 8b + 4c$$

$$= b + 3a - 8b + 4c$$

$$= 3a - 7b + 4c$$

From eqn (4)

$$a = a - b - x$$

$$a = \frac{a}{1} - \left(\frac{3a - 7b + 4c}{1} \right) - \left(\frac{-a + 2b - c}{1} \right)$$

$$= \frac{a - 3a + 7b - 4c + a - 2b + c}{1}$$

$$2 \quad p = (1, 2, 3), \quad q = (3, 2, 1), \quad r = (0, 0, 1)$$

$$\alpha p + \beta q + \gamma r = (a, b, c)$$

$$\alpha \begin{bmatrix} 1 \\ 2 \\ 3 \end{bmatrix} + \beta \begin{bmatrix} 3 \\ 2 \\ 1 \end{bmatrix} + \gamma \begin{bmatrix} 0 \\ 0 \\ 1 \end{bmatrix} = \begin{bmatrix} a \\ b \\ c \end{bmatrix}$$

$$\alpha + 3\beta = a \quad \dots \quad (1)$$

$$2\alpha + 2\beta = b \quad \dots \quad (2)$$

$$3\alpha + \beta + \gamma = c \quad \dots \quad (3)$$

From eqn (1)

$$\alpha = a - 3\beta \quad \dots \quad (4)$$

put eqn (4) in (2) and (3)

In eqn (2)

$$2(a-3b) + 2b = b$$

$$2a - 6b + 2b = b$$

$$-4b = b - 2a \dots (5)$$

In eqn (3)

$$3(a-3b) + b + x = c$$

$$3a - 6b + b + x = c$$

$$3a - 5b + x = c$$

$$-5b + x = c - 3a \dots (6)$$

Combine eqn (5) & (6)

$$5x - 4b = b - 2a$$

$$4x - 5b + x = c - 3a$$

$$-20b = (b - 2a)5$$

$$-20b + 4x = 4(c - 3a)$$

$$-20b = 5b - 10a$$

$$-20b + 4x = 4c - 12a$$

$$4x = (5b - 10a) - (4c - 12a)$$

$$4x = (5b - 10a) - (4c - 12a)$$

$$= 5b - 10a - 4c + 12a$$

$$4x = 5b - 4c + 2a$$

$$x = \frac{5b - 4c + 2a}{4}$$

4

From eqn (3)

$$-5b + x = c - 3a$$

$$-5b + \frac{5b - 4c + 2a}{4} = c - 3a$$

4

$$-5b = c - 3a - \frac{5b - 4c + 2a}{4}$$

4

$$-5B = \frac{c-3a-5b-4c+2a}{4}$$

$$= \frac{4(c-3a)-5b-4c+2a}{4}$$

$$= \frac{4c-12a-5b-4c+2a}{4}$$

$$= \frac{4c-4c-12a+2a-5b}{4}$$

$$-5B = \frac{-10a-5b}{4}$$

$$B = \frac{1}{-5} \left(\frac{-10a-5b}{4} \right)$$

$$\begin{aligned} \alpha &= a-3B \\ &= a-3 \left(\frac{-10a-5b}{-20} \right) \end{aligned}$$

$$\alpha = a-3 \left(\frac{-10a-5b}{-20} \right)$$